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2 x| x4 (e ae)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
Xl =22 19,962,602 19,310,575 652,027
= 238,722 38,722 200,000
w 22,000 0 22,000
Al 687,540 391,593 295,947
- 19,014,340 18,880,260 134,080
Ay A& 25t 5,028,814 4,515,540 513,274
= 238,722 38,722 200,000
i 22,000 0 22,000
Al 687,540 391,593 295,947
- 4,080,552 4,085,225 AN4,673
0| A2 =4 2,206,920 2,203,971 2,949
S22 S 35,135 32,186 2,949
405 XtatE SHI 6,469 3,520 2,949
01 AL ESHSHI 6,469 3,520 2,949
oBRE CEARA ARYI BY
2,949,000& 14! 2,949 0 2,949
d2eE |4 366,515 426,515 260,000
iEltEsd dat ussed 260,900 320,900 A 60,000
202 044l 40,000 100,000 A 60,000
05 SR W 40,000 100,000 A 60,000
oZRE I s 40,000,000& 40,000 100,000 A 60,000
S& UXEE 2 1,039,570 464,495 575,075
= 201,400 1,400 200,000
o 22,000 0 22,000
Al 348,447 47,750 300,697
- 467,723 415,345 52,378
IICHH FEENH 43t 222,023 169,645 52,378
307 glztol & 173,847 158,605 15,242
03 IAHMEE2HHIES 104,448 89,206 15,242
oMOtE2s Sz 29 59,411,000& 59,411 54,729 4,682
oHIZAAII2ES S7E2s 2
22,043,000 22,043 16,763 5,280
otFEAY SN 2 19,394,000& 19,394 14,114 5,280
402 212t A= 01 & 37,136 0 37,136
01 U2 E2AILE X (KA ) 37,136 0 37,136
oHIZHAII2S S MPA cZ22E
25,421,000 =14 25,421 0 25,421
olmEdd S2AX AIR4 22EE
11,715,000 =14 11,715 0 11,715
syt 2L XA (AlH]) 107,447 36,750 70,697
Al 107,447 36,750 70,697
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04 RS2 THALIX 2 107,447 36,750 70,697
SREBYHUGHT) SHSY N (AHAS)
70,697,0002 70,697 0 70,697
Al 70,697 0 70,697
S50/ FE0 HAXA (M) 10,000 0 10,000
Al 10,000 0 10,000
307 QI2+0| ™ 10,000 0 10,000
Al 10,000 0 10,000
02 QIR B MAR BT 10,000 0 10,000
CSEOIEFY AN AL (ANFAE)
10,000, 0002 10,000 0 10,000
Al 10,000 0 10,000
DE2LHY WAFE X (AlHI) 42,000 0 42,000
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Al 20,000 0 20,000
201 Lt 2| 42,000 0 42,000
m} 22,000 0 22,000
Al 20,000 0 20,000
01 Ak 2tel bl 42,000 0 42,000
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Al 20,000 0 20,000
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oS7 ISHNAME 2%  333,164,0008 333,164 343, 164 £10,000
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olI2HE =AY 2H (MEAR)
750,000 *7 00 = 5,250 0 5,250
Al 5,250 0 5,250
HHLSAAH (XX 22 D) 14,903,952 14,795,035 108,917
Ol 2AH(XXI=2A DY) 14,688,126 14,579,209 108,917
ol 2 Y| NS AY 14,688,126 14,579,209 108,917
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02 JIEtR 2 2= 39,495 36,080 3,415
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pyAws2LH(Z24l) 11,930 12,752 ~822
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= 1,564 1,812 A248
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01 2= 61,469 57,371 4,098
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10,8413 x15Q1 x35 A1 2t % 12& *90% 61,469 57,371 4,098
22 (¢EsZn) 43,872 40,920 2,952
JlZ2ZHl MSAY 43,872 40,920 2,952
201 Let24E] 24,144 22,800 1,344
01 At 22l 24,144 22,800 1,344
o g gl 13,248 12,480 768
-S28401.1.01F ZHME 2g)
8,000 x1621 x 10 x 12& »80% 12,288 11,520 768
ocR2MIIE2IHI(1.1.01F ZANE 1Y)
720,000& 162! *80% 9,216 8,640 576
202 44l 16,128 15,120 1,008
01 SLHOIYI 16,128 15,120 1,008
cHUHEF(1.1.J1E ZHIHH 2td)
20,000 1621 7 x12& »60% 16,128 15,120 1,008
203 YR =&t 3,600 3,000 600
04 EA2I YR 3,600 3,000 600
oX¥& 162 JIFE(1.1.0IF8 ZHINHHE B1Y)
300,000& =122 3,600 3,000 600
Heas(dEsZ) 17,595 0 17,595
BEX= 17,595 0 17,595
EEXESHRAY 17,595 0 17,595
802 BtEt= DI EF 17,595 0 17,595
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K- B3 B2 (3A0) - HRAMY - BES p/E-E" HlnE2
=)y 51,970,383 50,850, 194 1,120,189
= 116,935 79,184 37,751
s 620,000 620,000 0
Al , 128,292 1,123,573 4,719
= 498,000 0 498,000
- ,607,156 49,027,437 579,719
SEXNQ JAHRE & Ktarze] , 354,247 5,363,073 991,174
= 7,000 7,000 0
s 620,000 620,000 0
Al , 122,000 1,122,000 0
£ 498,000 0 498,000
- , 107,247 3,614,073 493,174
=SsH0 SMHEH ,211,869 2,416,695 795,174
s 620,000 620,000 0
Al , 115,000 1,115,000 0
= 498,000 0 498,000
- 978,869 681,695 297,174
S AMHIA W3 300,174 3,000 297,174
405 TtHabF S| 297,174 0 297,174
01 ML ESH SHI 297,174 0 297,174
CQIHUAMSIAIAE WH 297,174,000& 297,174 0 297,174
HE CCTV & XA 498,000 0 498,000
= 498,000 0 498,000
401 Al HIZ 201 I 498,000 0 498,000
= 498,000 0 498,000
01 A& HI 498,000 0 498,000
oY E CCTV AXIALE (AEAIS)
498,000,000 498,000 0 498,000
= 498,000 0 498,000
HHE SSEA 2l ,534,491 2,338,491 196,000
AMEHE S 2 oA ,534,491 2,338,491 196,000
201 Let24d] ,404,491 2,284,491 120,000
02 =24l , 247,235 2,127,235 120,000
cFHAEE M 120,000, 000& 120,000 0 120,000
401 Al HIZ 201 I 130,000 54,000 76,000
01 A& HI 130,000 54,000 76,000
oMHSHESIIEEH LAFA Ol EXISA
70,000,000& 70,000 0 70,000
o 2&E A CCTV & XIS Al 6,000 0 6,000
HY2AZ Y (3 H D) ,603,910 44,487,121 116,789
= 109,935 72,184 37,751
Al 6,292 1,573 4,719
T 44,487,683 44,413,364 74,319
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6,341,940 6,342 0 6,342
COlHOHA TS WS CCTV &X (01 HHEE)
477,920 478 0 478




= o,
H = 0 & AF & & A
20219 =4 1 3 LugH &A
2N MRt
dH: NLANE2F
@4 NSNS 323 9 )
S EH -G (EA) - RN - BES Ol &t 2t
2t 1,219,244 4,690 4,554
= 103,770 ,770 0
- 1,115,474 ,920 4,554
Ngdhyeg 932,821 598 223
= 103,770 770 0
- 829,051 828 223
NEAE LS 224,224 001 223
THAICH RIS MEEANAE RS 63,641 , 148 A 1,507
403 X SHMS K201 A 63,641 , 148 A 1,507
02 SI)|&2SH U222 EAS I 63,641 , 148 A 1,507
oXAMO KNYNEEAAG 2= 63,641,000 63,641 , 148 A 1,507
MO REAA-LFEAAE 25 74,270 ,540 1,730
403 XAtXISHM S K201 ™ 74,270 ,540 1,730
02 SII2SO0CHstA 25 2 E A I 74,270 ,540 1,730
o XA RIEMLA+LEEALE 25
74,270,000 74,270 ,540 1,730
HHSHH U (MPD) 286,423 ,092 4,331
Jl2 Bl (M21) 112,727 ,396 4,331
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